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Connects to UP when UP boots up
and maintains the state of UP

Config Push towards UPs

Checkpointing session states

To detect liveliness of UP
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UPF-1 UPF-2

RCM

Note :: Redmgr IDs (m) = sessmgr instance ID (n-1)
For example :: smgr-1 is mapped with redmgr O;smgr-2 is mapped with redmgr-1,
smgr-n is mapped with redmgr(m) = (n-1)

This 1is important to understand proper IDs of redmgr because we need to have proper logs to be checked
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rcm show-statistics checkpointmgr-endpointstats

RCM controller and checkpointmgr Togs (refer this 1ink)

Log collection

UPF:

Command outputs (hidden mode)

show rcm checkpoint statistics verbose
show session subsystem facility sessmgr all debug-info | grep Mode

If you see any sessmgr in server state check the sessmgr instance IDs and no of sessmgr


https://www.cisco.com/c/en/us/support/docs/wireless/ultra-gateway-platform-cups/220879-understand-procedure-for-rcm-log-collect.html
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show task resources facility sessmgr all
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show task resources facility sessmgr all
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show rcm checkpoint statistics verbose
rcvd chk-point sent

show rcm checkpoi nt statistics verbose
Tuesday August 29 16:27:53 | ST 2023
sngr state peer recovery pre-alloc chk-point
mcro full mcro
1041542505

inst conn records calls ful
1 Actv Ready 0 0 0 0 61784891
2 Actv Ready 0 0 O O 61593942 1047914230
3 Actv Ready 0 0 0 0 61471304 1031512458
4 Actv Ready 0 0 0 O 57745529 343772730
5 Actv Ready 0 0 0 O 57665041 356249384
6 Actv Ready 0 0 0 O 57722829 353213059
7 Actv Ready 0 0 O O 61992022 1044821794
8 Actv Ready 0 0 0 0 61463665 1043128178
Here in above command all the connection can be seen as Actv Ready state which is required
show session subsystem facility sessmgr all debug-info | grep Mode
[l ocal ] <Nodenane># show session subsystemfacility sessngr all debug-info | grep Mdde
SRP_SESS_STATE_SOCK_ACTI VE

Tuesday August 29 16:28:56 | ST 2023
SRP_SESS_STATE_SOCK_ACTI VE
SRP_SESS_STATE_SOCK_ACTI VE

Mode: UNKNOWN St at e
Mode: CLIENT State: =
Mode: CLIENT State: _ 2
Mode: CLIENT State: SRP_SESS_STATE_SOCK_ACTI VE
Mbde: CLIENT State: SRP_SESS STATE SOCK_ACTI VE
Mbde: CLIENT State: SRP_SESS STATE_SOCK_ACTI VE
Mode: CLIENT State: SRP_SESS STATE SOCK_ACTI VE
CLI ENT State: SRP_SESS STATE_SOCK_ACTI VE

Mode:



Mode: CLIENT State: SRP_SESS STATE_SOCK_ACTI VE
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rcm show-statistics checkpointmgr-endpointstats
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<#root>

For exanple :::

Sessngr instance ID:: 1 to 20

Redngr IDs :: 0 to 19

In this example somehow if my sessmgr instance ID goes beyond the mentioned 1imit i.e say 21/22/23/24/2
Refer this diagram

sessmgr-1
rEder-ﬂ Connection broken as
LT
rel:lmgrvl s ed S'Eﬁ'mgr'l Here sessrgr-2 got killed and came
up with mew instanoe 10 say 7
redmgr-2 sessmgr-3
redmgr-3 T g |
a5
sEamEr
redmgr-4 m$¥ hiled 5'355""Er'5 Here sesimgr-5 got killed and came
| up with new instance 1D say &
redmgr-5 sessmgr-0
| | sessmgr-7
No TCP connection will sessmgr-8
form as RCM redmer
19 1D sengitive

Both this sessmgr instance-7/8 have no TCP peer connection since for RCM redmgr-1 was
connected with instance-2 and redmgr-2 was connected to instance-5 so even though sessmgr
came up with new instance ID value which is beyond defined 1imit it wont have connection
back with redmgrs which is still just pointing to previous instance but connection is broken
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redmgrs =& UX|AIZ|E sessmgr QI AEA ID £& A$tstE ZdLC.

Max value of sessmgr instance ID = no of checkpointmgr - 1
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<#root>

task facility sessmgr max <no of max sessmgrs>

Note :: Inplenmentati on of this command needs node reload to enable full functionality of this command
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